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Show how this is a tale of social injustice and cruelty. Use examples from the story
Thakur's well to elaborate your point.
Describe the Mechanics of Writing.

OR
"Untouchability is inhuman" - Discuss this statement in the light of the story
Thakur's well.
Complete the following sentences with a suitable article.

l) Robert and Jessica went to _ party last night.
2) Can you tell me how to get to _ cinema from here?
3) Ashish is one of _ strangest people I know.
4) I recommend you try _ tomato soup at this restaurant.
5) Would you like to see _ film?
6) _ apple a day keeps _ doctor away.
7) I can't believe I failed _ yesterday's test!
8) Do you have _ dictionary that I can borrow?
9) Magda is wearing _ blue dress with red shoes
10) Bomholm is _ is land in the Baltic Sea.
11) Christmas comes once _ year.
12) Tom took _ umbrella as it was raining heavily.
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Describe the central theme of the essay ooHalf a Rupee Worth." Ll
Write a letter to the Principal of your college to issue transfer and study certificates L2
for applying the further study.

OR
Subbaiah's greediness taught him a great lesson. Elucidate this statement. L4
Read the paragraph and answer the questions. Ll
Brian is a doctor. He looks after sick people. He usually gets up at 6:00 o"clock.
Today, he is late, it is 6:30 and he is siitt in bed. He usually go"i to work by train
but today he is driving to work. He arrives to work at 6:30 every morning but it is
7:30 now and he is still driving. It"s 12 o"clock now. He always takes his lunch at
12:00. But today he isn"t taking his lunch at 12:00 because he is looking after his
sick patients. It is half past seven now. Brian is watching TV. He usually watches
TV at half past seven because his favourite programme starts at half past seven.
Brian has his dinner at 8.30 every day and he is having dinner now. It is 12:00 now.
Brian is going to bed. He always goes to bed at12:00.

a) What does Brian do?
b) Why is he driving to work today?
c) When does he always have his lunch?
d) Why does he usually watch TV at 7.30?
e) What time does he arrive at work every day?

0 What is the suitable title for the paragraph?MI
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How does the poem I am not that Woman reflect the present situation of woman?
Describe the types of listening.

Does a man have any relation with the universe? How, according to the author's
father, can a man establish a link with the Cosmos?
What are the strategies involved in writing an essay?

OR
"I have endeavored to understand the fundamental truths" who is "I" referred here?
What are the fundamental truths? Who relieved them to the speaker? - Elucidate.
What is the difference between Scanning and Skimming?- discuss with examples.

{<:kt END ***

OR
How does the woman oppose her exploitation? - explain Ll 6M
Write any six rules of agreement of the verb with subject and explain with L6 6M
examples.

What is the theme of story What is My Name? -discuss Lf 6M
Prepare a conversation between your English teacher and you on the importance of L4 6M
English for engineering students.

OR
Do you find any similarities between Mrs. Murthy and the women in your family? If L4 6M
yes, list them.
Your friend is poor at time management and provide any six tips for him to manage L3 6M
it effectively.
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